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H W + /75 Wai (g) 330.182| 327.368
Waig @3S wo] == Ti(TC) 19.2 19.2
2= x(O) d v B9 9% @
Sw Ti(C) o W Zo] Wi 1.000160| 1.000160
Wai - Wf (g) ® 248 435  248.061
Aol &% (Tx)ol digt I A %-v]H
=
fmol e Wax (g) = @ x 330.222|  327.408
2.9 F A F
Hl =4 CAZA R o ok
I8+ A+ S TE | 305,806 | 343.000
Wh(g)
hs 54 we] yaw=ng
e 2% Tx(T) ot .
xR AR T Wo (g) 25.109 25.107
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E 9 9 Z=(g/cr) 2.632 2.635
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4 DI|IHER
HBHARS SIAZSAHM) CATAIZI AIZ2H W)
N
e (HAZIAZAZ+EI) 3652.7 g Wi+ 2 1,701.1 g
20|23 568.3 g 2|2 568.3 g
HHAIZ Ol BII2AZE2H (W) 3084.4 g W1 1,132.8 g
1. 2y SDUABO g4H =H
NO 1 NO 2
W 756.2 W 679.4
Dw 718.7 Tw 209.6  Ow 645.8  Tw 193.5
Wi 37.5 s 509. 1 Wiw 33.6  Ws 452.3
W= 7.4% W= 7. 4%
RS 7.4%
2. HAHAEZANZ 2 (W) = W/ (14w) 2872.0
3. 2omAl SLUHXAIZ2AH (W)= Wo=Wo-W1 1739.2 g 1739.2
4. P2.0(LA2.0mNIAL IIEELE)= W2/ Wo 60.6% 34.9%
5. om0l £ AlR2 XMEs
H A 1 2 1 2=1/W0
- i o e AIZ+ deAz o o /LR lE s
Mo poleg 8IS | g5e5)| =g | @7FE*| mse | as
75.0mm | 1 437.10 437.10 0.00 | 0.0% 0.0% | 100.0%
53.0mm | 2 461.90 461.90 0.00 | 0.0% 0.0% | 100.0%
37.5mn | 3 471.60 471.60 0.00 | 0.0% 0.0% | 100.0%
26.5mm | 4 469.50 502.10 32.60 | 1.1% 1.1% | 98.9%
19.0mn | 5 456.80 489.80 33.00 | 1.1% 2.3% | 97.7%
9.5mm 6 489.70 539.90 50.20 | 1.7% 4.0% | 96.0%
4.75m | 7 524.00 775.80 | 251.80 | 8.8% 12.8% | 87.2%
2.0mm 8 448.90 1214.10 | 765.20 | 26.6% | 39.4% | 60.6%
« AXAI22H:  1132.80 ¢
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SI|2H : 577.00 g Eo/9Ux (Gs) : 2.634
SIHHAZASZ2H Ws : 115.09 g AMEKXLE (PI) N.P = b&HA HALIEE

HAZAMZBE2H © Ws=100Ws /(100+w) : 115.02 g

P2.0(2Z2.0mmUlMe JIESUE: 60.6%

1. 2IAXTANZRS &==H EFH(XAE=HI)
NO : 1 NO : 2 NO : 3
W = 177.4 W = 1198.2 W =
oW = 1125.7  Tw = 208.1 oW = 1144.0 Tw = 178.1 oW = Tw =
Ww = 51.7 Ws = 917.6 Ww = 54.2 Ws = 965.9 Ww = Ws =
W= 5.6% W= 5.6% W=
sl 5.6%
2. HISH AE
== Z LAl 2H HEHAS ZCHAAHD(mm) 2l 2 S N il A ‘ = =| E&Jt
SEN ) [AreE [ ¢ [seuoimm] VUt | J(@on)/oGs ) [aO@z0(m| —oMNTE |TEANTE T PDIRSAE) nay
10:01 1 0.0190] 0.0190 132.6 132.6] 11.5165 0.0040 0.0465 5] 0.0020[ 0.0210 29.4% 10.7%
10:02 2 0.0175] 0.0175 135.5 67.8]  8.2320 0.0040 0.0332 25| 0.0020[ 0.0195 27.3% 10.0%
10:05 5 0.0150] 0.0150 140 .4 28.1 5.2984 0.0040 0.0214 25 0.0020f 0.0170 23.8% 8.7%
10:15 15 0.0130] 0.0130 144 .2 9.6 3.1009 0.0040 0.0125 25 0.0020f 0.0150 21.0% 7.8%
10:30 30 0.0120] 0.0120 146.2 4.9 2.2073 0.0040 0.0089 25 0.0020f 0.0140 19.6% 7.3%
11:00 60 0.0110] 0.0110 148 . 1 2.5 1.5711 0.0040 0.0063 25 0.0020f 0.0130 18.2% 6.8%
14:00 240 0.0095] 0.0095 151.0 0.6 0.7932 0.0040 0.0032 25 0.0020f 0.0115 16.1% 6.1%
10:00 1440 0.0085] 0.0085 152.9 0.1 0.3259 0.0040 0.0013 25 0.0020f 0.0105 14.7% 5.6%
HLIAHAS EF (Cm) : 0.0009 [1:2H 229 IZHA =24&1.0009HX122 0l (mm) 107.59
Ws/V (g/cm) : SEH 1me & HAXAIZ 2 22 2ol B0 i—%ﬁ 1.0507t X1 21 2 01 (mm) 10.87
Lb : = 2229 20l (mm) 136.84
1/(Ws/V): 8.69 cm/g Gs/(Gs—0.99678) *rw 1.609 g/om Vb : —C.’—E 229 21 (o) 57.50
A HAABIHO SHEHA (o) 58.84
3. Mot
Hl & 1 2 3=2-1 4=3/Ws 5 7=6%P2.0
ﬂl 2J8s =279 H2AS+ | ©2A2 oo RO o -
= e T =292 | S = —cTE ==
0.85mm(NO.20) 1 437.3 476.7 39.40 34 .3% 34 . 3% 39.8%
0.425mm(NO.40) 2 369.7 403.0 33.30 29.0% 63.2% 22.3%
0.25mm(NO.60) 3 380.0 392.6 12.60 11.0% 74 .2% 15.6%
0.106mm(NO. 140) 4 345 .1 355.6 10.50 9.1% 83.3% 10. 1%
0.075mm(NO.200) 5 352.0 352. 1 0.10 0.1% 83.4% 10. 1%
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T (g)
5X10 34 10249.2 | 5565.2| 4684.0 2222.56| 2.107 | 8.0| 1.951| 27
5X25 35 10566.2 | 5656.0| 4910.2| 2216.21| 2.216 8.0| =2.0s2 51
5X55 36 10592.9 | 5582.7| 5010.2| 2213.99| 2.263 8.0 2.005 59
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7] 01 2k

TR J‘%(m‘fn;’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
?kgg 0 57.00 118.0] 181.0 245.0| 302.0| 363.0 466.0| 559.0| 676.0| 715.0
=] == ]_

34 °(;7°f 0 2.9 6.0 9.2 12.5 15.4 18.5 93.7 98.5 34.4 36.4
=] == ]_]:
?Mﬁ/ﬁj; 0 0.285  0.58) 0.904] 1.223] 1.508] 1.813| 2.3271 2.791| 3.376]  3.570
Z{g g 0 61.0] 135.0] 224.0 326.0] 434.0 556.0 797.0| 1050.0| 1527.0| 1773.0
=] == ]_]:

35 | 3.1 6.9 11.4 16.6 991 98.3 0.6 53.5 7.8 90.3
(kg f/
=] == ]—T:_
"(M“Ij;‘;n; 0 0.305| o0.674| 1.119] 1.628] 2.167| 2.776| 3.980| 5.243| 7.625| 8.854
fkg f) 0 8.0 106.0] 182.0 280.0| 394.0 525.0] 838.0] 1227.0| 2132.0 2952.0
=] == ]—T:_

36 O(};Z};— 0 9.4 5.4 9.3 14.3 20.1 96.8 42.7 62.5  108.6|  150.4
=] == ]—T:_
"(M“Ij;‘;n; 0 0.240 0.520] 0.909] 1.3908] 1.967| 2.622| 4.185| 6.127] 10.646| 14.741
17 3 (2.5m) é'g <100 = 21.9% 5. Omm 120'83 <100 = 27.1%
42 3 (2.5m) gg <100 = 31.4% 5. Omm 50-23 %100 =  50.9%
92 3 (2.5m) g'g <100 = 28.5% 5. Omm 50'13 <100 =  59.5%
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